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Instruction: Students are required to write Roll No on every page of the question paper,
writing anything except the Roll No will be treated as Unfair Means. All other instructions on
the reverse of Admit Card should be followed meticulously.

Section A: 3 out of § (Short Questions), 5 Marks each: 15 Marks

QA1: Discuss the constraints that have to be borne in mind while pursuing investment:

objectives.
-

' QA2: Identify key differences between traditional finance and behavioural finance?

QA3: Assume the following spot rates

Year K] 2 3 4 5

Spot Rate 7.0% 7.2% 7.3% 7.4% 7.5%

What are the forward rates over each of the following five years?

QA4: The returns of two assets under four possible states of nature are given below:

State of nature  Probability Return on asset 1 Return on asset 2
1 0.40 -6% 12%
2 0.10 18% 14%
3 0.20 20% 16%
4 0.30 25% 20%

a. What is the standard deviation of the return on asset 1 and on asset 27(1.5 marks)
b. What is the covariance between the returns on assets 1 and 27 (1.5 marks)
6. What is the coefficient of correlation between the returns of the two assets? (2 marks)

QAB: Basad on tive years of menthly data, you derive the following information for the
gsmpanias listad:

Lampany al {Intsrsept) Bi rim
ints] 0.2 12.10% 077
Fard 0.10 14 80 0.33
Anheuser Buseh 017 780 0.55
Merck 0.08 10,20 0.80
2&PB 800 0.00 EED 1,60

8) Cempute the Bata zsafficiant for each stock,
b) ASSUMING 2 fsk-free rate af 8 pareart and an expacted relurn for the market portfolio of
15 BETEENt; E8MpUle (he pxpecled requirsd returs ta¢ all the stesks and plet them en the
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Section B: 2 out of 3 (Long Questions), 10 Marks each: 20 Marks

QB1: A firm believer in acquiring quality manpower had spotted talent on hearing you talk on
debt securities in a seminar conducted by the local Rotary Club. To confirm his instincts, he
has invited you to give a lecture to the board of directors of his company to elucidate certain
concepts in bond analysis. He has requested you to use the following data on bond B which
is currently one of the most actively traded bonds:

Bond B
Face value Rs. 1,000
Coupon (interest rate) 8 percent payable annually
Term to maturity " 5years
Redemption value Rs. 1,000
Current market price Rs. 1,020

a. What is the yield to maturity of bond B?

b. What is the duration of bond B?

c. What is the convexity of bond B?

d. If the yield on bond B increases by 25 basis points, what will be the percentage change in
the bond price?

e. Two years from now, bond B will sell at a yield of 9 percent and the coupon incomes over
the next two years can be reinvested in short-term securities at a rate of 11 percent. What
is the expected annualised rate of return over the two-year period?

QB2: a) What is the meaning of Capital Asset Pricing Model?
b) Discuss all the measures employed for portfolio performance?

QB3: You are evaluating various investment opportunities currently available and you have
calculated expected returns and standard deviations for five different well-diversified
portfolios of risky assets:

Portfolio Expected Return Standard Deviation
Q 7.8% 10.5%

R 10.0 14.0

S 4.6 5.0

T 11.7 18.5

U 6.2 7.5

~ a) For each portfolio, calculate the risk premium per unit of risk that you expect to receive
([E{R)-RFRY 8). Assume that the risksfree rate is 3.0 percent,

b} Using your eempulations in Fart a, explain which of thaga fiva porttatios i most likely to
be the market portiolin. Use ysur esleulatisne ts draw the eapital market line (CML),

E) I yBu are BRIY willing ta make an investment with & =7.0%, is it possible for you to earn a
Feturn af 7.0 pereapt?

dj What is the minimum level of risk that wouid be necessary for an invesimant ta eam 7.0
passit? What is the eompesliien of the porrolio along the CML that will ganarats that
expesied retumn?

e) Buppoze you g1e New Willing 16 Make aRd IRVBRIMARt With & =18.2Y, What wauld bs the
INYEsIMENt Brepertions in IRe riskizes 8288t sRA tha markst perttslie for this pertfelio? What
15 Ihe expeciad relurn 18F thig parfslis?
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Section C: Compulsory Case Study: 15 Marks
Innovative Industries Ltd was set up 15 years ago. After a few years of initial turbulence, the
company found a few market segments in which it had some competitive advantage.

The financials of the company for the last 5 years are given below:
Rs. in million

Income Statement Summary = 20 x 1 20x 2 20x 3 20x4 20x5

e Net sales 2000 2400 2760 3310 3905
» Profit before interest & tax 700 840 995 1195 1480
e [nterest 140 151 198 215 282
e Profit before tax 560 689 797 980 1198
e Tax 162 193 220 272 333
» Profit after tax 398 496 By 708 865
¢ Dividends 160 175 200 269 320
» Retained eamings 238 321 377 439 545
Balance Sheet Summary
» Equity capital (Rs.10 par) 200 200 200 200 200
e Reserves and Surplus 800 1121 1498 1937 2482
e Loan funds 200 220 298 320 450
e Capital employed 1200 1541 1996 2457 3132
e Net fixed assets 800 950 1140 1432 1892
¢ Investments 150 160 170 185 200
e Net current assets 250 431 686 840 1040
= 1200 1541 1996 ean? 9132
» Market price per share(year 180 248 259 352 506
ended)

The year 20x5 has just ended. The current market price per share is Rs.506. The market
price per share at the beginning of 20x1 was Rs.160.

(a) What was the geometric mean return for the past 5 years?

-

(b) Calculate the following for the past 2 years? Return on equity, book value per share,
EPS, PE ratio, (Prospective), market value to book value ratio.

-

~ ’”"P(c) Calculate the CAGR of Sales & EPS for the period 20 x 1 — 20 x 5?

(d) Calculate the sustainable growth rate based on the average retention ratio and the
average refurm on aquity for the past 2 yaarg?

(#) Besompose tie ROE for the 1ast 2 years in term of § faclors.

() Estimats the EPS fer the next year (20 x 6) using the following assumptions.
1 Nel sales will graw at 26% 3 -
i PBIT a3 g pareantags of nst salss ralios will improve by 2%
. IRterest will insregss by 3% avsr its 20 x 6 valus.
Y Efeetive 5% rate Will B2 3009,
(8} Berive the FE raiie uzing the constant growth model Fer thie purpese Lga tha follawing
= sssumiplians. \
I The dividend payaut ralis far 26 x 6 will be equal (o the average dividend pavout ratio
far tha pariad B8 % 4 - BBy E,
I |Hg f’gﬁﬂlﬁgﬁ FBi8 Bf raturn 2 astimated with tha }‘lalf) C;f ﬂ“\s} @APM (Righ frqg return =
g8%; Marksl risk premium = 138, Baia a8f IRR’VSVS [RdUEtrics Blsal = 1 2).
= [ THe B¥pREIRH Grawth FAI8 IR AVIdands s sat squal 15 the pradust of the avérags relum
B s8Ity AN AVerage IRIBALBA FAHA 1BF 1R RFBVIALE 2 yasre.
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